WOY AUI[UOIAIDS Mmmm//:dny

Full Marks:

http://www.sctevtonline.com

st -
st -SEM ICOMMON/20 19(W)/ (New)

Th. 3-ENGG. MATHEMATICS-1

80
Time : 3 Hours.

Answ : = i
wer any FIVE Questions including Q No. 14& 2.
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Prove that

Reduce x +

2x-3y+52+7=

Answer ALL the questions.

a—-b-c 2a 2a

1 2
. T _ afaT (1 2 3 _
verify (AB)T = B'A" whereA = (3 P 1) B= (_21 D)

Show that the equation sinf

Find the coor
3) and (— 3,9) in the ratio 1:3.

Find the equation of the plane which

2b b-c—a 2b =(a+b+c)?

2c 2c c—a->b

1

1 .
=a+- doesnot have a solution for every real number a = 0.

If6 = a+ fand tan&:tanﬁ = %3y, then prove that sin(a = B = :—:l};sinﬁ.

dinates of the points which divide internally and externally the line joining (1, —

V3y +8 =0 to normal form of equation of straight line.

passes through the point (3,4,-1)and is parailel to the plane |
0. Also calculate the distance between them.

Find i .
all the minors of the determinant |3 = 4] -
8 —1l°

Fi i

ind the maximum value of the determinant |c95x Shul .

sinx cosx
Prove that 4cos105%c0s15%+1 =0
Find the value of —2rS
alue of 1+tan?15Y

Find the value of sec?(tan~12) + cosec?(cot™!3)
Find the slope and y-intercept of the line2x — 3y + 8 =0
Find the center and radius of the circle x2 + y? = 8x + 2y =6 =10

Find the value of k such that the three points (1, = 2,3).(3, = 1,2) and (7,1,k) are collinear.
Write the normal form of equation of plane.

Find the distance between the points (2,3,5) and (4.3, - 1).
Answer any SIX of the following.
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If A+B+C=T1, then prove that
SinA + SinB - SinC = 4 5inA/2 Sin B/2 Cos C/2

a b ¢
Prove that| g2 b? c? |=(a=b)(b—c)c—a)la+b+c)
b+c c+a a+b

Prove that ¢0s20%.cos40°.cos60°.cos80° = 11_6

Find the equation of the line passing through the point of intersection of 2x-y-1=0 and 3x-4y+6=0
and perpendicular to the line x+y+2=0.

Find the equation of the sphere which passes through the points (0,0,0), (0,1,0),(1,0,0) and (0,0,1)
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